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Oll &FXb= 0 =0l A

SAHRE - AHEDIZ2

OPN=EINE= (Cho): ®Me)

& o A = Xl & A &
&t = 2| oH HEATHH s gt = INES HECX|ESH s

= A 3,322,386 3,186,752 135,634 | & p.| 3,322,386 3,186,752 135,634
PSpell= 0 0 0| HISXHA ALY 176,380 85,300 91,080
EES= 0 0 0| 8RS AFZHI 220,000 130,000 90,000
a2 0 0 0|02 0 0 0
o eeeny 27,066 86,184 A59,118| J1=2ZH| 0 0 0
NEr225% 0 0 0|03 0 0 0
oI 23l 3,116,365 2,950,641 165,724 | 0IXI 2 2,926,006 2,971,452 45,446
=} 0 0 0| Rt=ele|Sats 0 0 0
Ol K=&l 41,855 53,097 A1,242 | Ol =22 Ak 0 0 0
JIEF 137,100 96,830 40,270 | JIELKI = 0 0 0
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o
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o101 L s 2 & & U
SoloH
200 M2l 186,021 156,111 29,910
210 Z&aH 186,021 156,111 29,910
214 At == 137,100 96,830 40,270
214-0 137,100 96,830 40,270
Ox=d=E=z S 137,100,000& = 137,100
216 Ol Rt== 48,921 59,281 210,360
216-01  S30W=0Ikt= 41,855 53,007 A11,242
O0IXIZ Okt 41,855,000 = 41,855
216-02 BA=3l==01 k== 7,066 6,184 882
ORItEX=0l thet Ol k== 7,066,000& = 7,066
700 2L SHU 3,136,365 3,030,641 105,724
710 28 3,136,365 3,030,641 105,724
713 X 20,000 80,000 260,000
713-01 20,000 80,000 260,000
oLtz a2l 20,000,000 = 20,000
714 OIXIZ=l== 3,116,365 2,950,641 165,724
714-01 3,116,365 2,950,641 165,724
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SIAHAE 20174
Oll&EXb== 0 20l
gAF=Z - IS

® XEH= (Eh9): @)
ZX .22 . HH . O - NRAY - BES INE- HMET XS Hlnsz2
NELESH] 3,322,386 3,186,752 135,634
DIELE RS, 3,322,386 3,186,752 135,634
MASS MLy X 396,380 215,300 181,080
NASE KA XIR(XHED|12) 396,380 215,300 181,080
MASE KAl X 396,380 215,300 181,080
201 YEr2AY| 16,500 25,300 /8,800
01 A2 16,500 16,500 25,300 18,800
ORFEAIICH D) B H2LEl 16,500,0002 = 16,500
307 eIZtolH 42,280 0 42,280
05 DIZtoEi 42,280 42,280 0 42,280
OXIZEOIX L BAKX H2ata DY 5 0000005 = 25 000
OXE A2l Z203 Xat| 4,000,0008 = 4,000
ORHEANY 213 8,000,0002 = 8,000
OXYREME 29 X 5,280,000 = 5,280
402 QI2HXH=0|H 117,600 60,000 57,600
03 DIZHHBARIH| 117,600 117,600 60,000 57,600
ORZAIASH Al B2AL 102,600,0002 = 102,600
OXIZFAIY AAIDI2E Al B2 15,000,0002 = 15,000
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- & CHR| - HIRAIY - A= XI=H HEAEX| =N s

501 A= 220,000 130,000 90,000

01 oiais 220,000 220,000 130,000 90,000
Osx2 220,000,0002! = 220,000

CEHS (MBS 2,926,006 2,971,452 N45,446

EFSUAEIONE=D] 2,926,006 2,971,452 A45, 446

CEY =N 2,926,006 2,971,452 A45, 446

602 OilXI= 2,926,006 2,971,452 A45,446

0l oxl= 2,926,006 2,926,006 2,971,452 45,446
OulxI2 2,926,006,0002 = 2,926,006

&t 3,322,386 3,186,752 135,634
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Oll&EXb== 0 20l
gAF=Z - IS

(S &)
x o o o o
At N @ | Moz | wxa | gam | 57t | gaz | OF | OB | o Sk | ST | amess | HU3R | 0138 | J|E) (@-B)
2= | BX=s 55 | (oxEw) TS | Aol 201 AL | AFH| | %213 | g2ae | 22ae | KIS

20114 DX 1,111,472 0 0 0 35,215 0 97,633 978,624 430,000 0 430,000 0 0 0 0 681,472
20128 & 178,872 0 0 0 107,817 0 20,470 50,585 0 0 0 0 0 0 0 178,872
2013 &= 852,410 0 0 0 84,916 0 38,677 728,817 110,000 40,000 70,000 0 0 0 0 742,410
20148 & 1,204,134 0 0 0 66,466 0 64,151 1,073,517 0 0 0 0 0 0 0 1,204,134
2015 & 412,488 0 0 0 155,134 0 58,235 199,119 150,000 50,000 100,000 0 0 0 0 262,488
2016 &= 262,289 0 0 0 83,349 0 46,598 132,342 215,300 85,300 130,000 0 0 0 0 46,989
20179 & 206,021 0 0 0 27,066 0 41,855 137,100 396,380 176,380 220,000 0 0 0 0 A190,359
Hl 4,227,686 0 0 0 559,963 0 367,619| 3,300,104| 1,301,680 351,680 950,000 0 0 0 0| 2,926,006
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4. OiXl=2 & ME=2 YAl
SIHAE 20174
OllARXES= - 20 A
3 =2 &2
A= =l (G2 &
OIXI 2 ol
= Ol XI(EH X HID
2015\ = U5 X o 2016 LS U@ 2017H LS HHD® E2(®-®)
=y 3,069,377 3,116,365 2,926,006 A190,359
] A 3,069,377 3,116,365 2,926,006 A190,359
=8 3,069,377 3,116,365 2,926,006 A190,359
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